BITE HEERE

3.1 AN AR i DR A PRAL A TR — AR XX b 27

g! er‘o

PR A D Ak BRATL B8 48 2 AT AR SAAT I A A7 AE 8 R 24 AR AE B Ak BRAL BT K AT Y
— BT, D R R S A A R AR Y BT A R A A FE R I AT AT
I A58 A — AR R i Ak BEATLIRAT 1 A O e R Ak - it 4 sl S A RS . X8Ik
PEFEHUAR 2 T i Dy Ak BEBL AT B AR Y

3.2 GAERBSHEREAIRL 0 X

(D #HBEE-AHEME MR 2S8R ERSHA LS. L
78 SC JEE 5 3 $AAT Y A

(2) BERR EA AT AL O SZ A 2B M) B P U 3 A

(3) AN A BE A ] DL 3 ) — AR s Al — R e 7E AT bt T LU= A 2 A AR

3.3 WAIGERIFIIIF R TR DB & G5 R R LB M VE . 33X %P A R A T,
nh 7 AR
& IR BT A BB SR .

begin
local x
x:=10
print (x)

end

FIRAR Y x 2 N ARAR R T RE B AN AR P U5 ), DR Ok B R I 0B AT R 22 2 AR R
BRI o

RS

3.4 AERB AR X

& AR AR X R A B B A AT I AR R B BRI B AR LA AL R
FP 2 1Ak S P 5 BRI 55 2R T AL I TAR RSB . — Rl A9 5 i 22 i A
R AZ AL WA AR AT RO SE B 4 AN B B, e R R B R A SE B AR Y B AT i AR
(1 3 38 5 2 BT IR o0 BE A FEAS B . A EE DO

(D A2 P 1 3 S LR 54T 55 BOAE 55 S i FE P 1t LR 2Rk 2 05 - R 5
K B SME T B Al 25 55 BA S rh S5 455 0T o A )2 5 1P P A 55 1 BRUAT SR AR 2 1
ARG IS IR B A A, AT — PR R B BRI B A ML R A A TN AT

(2) — AR ATty Z2 A~ BERR A A - L 20 28 /0 fhy —A> BERR 4 A AH B i SR A BT

(3) AEMb A8 A 2 2 I AE AL Ab B R 42 v, 18 UNIX 3X R 1 43 B 22 2 v D) 38 A5 46l 1)

e« 0



Ao MRS LT A M2 ER T R .

3.5 {E UNIX System V v, Z 85 2 )5 B AT B 199 1F SCBE AR #5 )8kE F2 1 F iy —
AV
& N R GRS R R BT AL B DR SRR 0 R A AR AT O R LR SO
K R G AR R AR 1R SR R R IR B T R R O R AR ) AR RS R A
BERE BRSO MR S8 — T A% O R 7 T A B N FE

3.6 AF2IEIRSIX 7 WR2E AN S X 1.

& AR ARV Z I R RS AT — BT . BER R TARIE R K
T P BEAE 500 RS s 2% P RS 722 e T 5 kS B9 o BT LB SRR S 7 1) 28 PR O IR BE R )
Bl .

getspace:
begin
local g
g=stack[top]
top=top-1
end
release (ad) :
begin
top=top+1
stack[top]l=ad

end

3.7 JRARERERIEHIZIATIRRI Bl 7 51 B2 00 R E 2.2

B IR ERR T 0 04T PR . BLEE R 2R ] 2

AR 24 2 Fh 9 e A AR I S X O AL AT BRI SR A o T ] 24 S A 3R A B
PN 5 Y .

3.8 A2 MRPNTR? 208 ERE R

. HERB RO —4UFRER PR — DR AR B NI R — 0 B
M5 BUE AT 20 LA — A A VR 2 ST 1 B AT BIVAS e 3 P A DL i 3 23 B R 00 O &
HEAR [ 6 AT S X

PEFEIE] A ]2 46 - S0 PR N 1 — A e HE A D L 4 o) 24 A ik T 8 i b 4T AR
BAE EARSERY A R — i B AT B R

3.9 LbE POV EGE LML SCBLRERE ] BRI XM .
Z: HFRMBIE IR IR SRR A X Z 5 e R I HER e
AR i DX D 0k o I e i AR A R R A B DX B e IR e B DR R O A L R
e S X E BB L 3200t e A B2 I B DT 82 J5 A A5 T RE A Il 11X
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(ELJ2 0 BT A A B - LD 0 B 0 X B (3 K AR 8 2 19 CPU 3B i) 5 (2) 7
ARG,

ISPV R S 5 B B R I R X A IR R T B B e PV
JETEARAE SO 1 POV SR AT RIS SRV R W A A . L R R Y A R IR A
I 55 DX PN AT I A R R AR AT 1 P B WZ PR AR I AN MR Lock IR AE L BEA T 1l B¢
DT R [ 2 lock A s, 55 DS H0H7 ST X 1 J2 7 55 1 BA A1) op S5 455 phy oAt 1t R 480 V)t
TEBAR RS I AR DX X PSIE A B AR SE H A Z2 D aE R P R AR
MPEAERFREZ G, — BA VBRI W 45 155 9E 72 b i — A 0E Al 54X, HA A 4k
B fE.

B I &R RS K Lock 10752 U H e (9, A7 78 CPU R 28 AR A F A . PV
JEEAE ] T A5 5 s I T Bk A Bk

3,10 BAE 3. 6 Virk Bl i A - A b SR olni oy th m A KRR AT
PR DX HL AR A i B A 55 T AT G o X AR JE A y™ A5 RN B 5wl v
0P IX IR . FBN IR R 1K FE deposit(data) FIFZGE e remove(data)

& W G X A RS S O mutex [, PRI 7 UERR AN 2 DEAR X R —

Begg np X AR BT WA ME N 1. A5 5 i avail Dy 28 7= F dERE A FA IS 5 i W AR (E A
m {55 5 full i 2% dE R O FA IS 5 & W HR B 0. AT A

deposit (data)
begin
P (avail)
W DEZIX 1
P(mutex[1])
BEIRA G 1
V(full)
V(mutex[1i])
end
remove (data)
begin
P (full)
RGN X L
P (mutex[i])
X 1B
V(avail)
V(mutex[i])

end

3011 BAYERE Py AL Py Gl AN FIFO 22 pl DX BA 51 7E 42 Chn T B ) » AN G2 b X
KIS PRSI, R Py APy Z ] 5 05 02 T 25 1F -
(a) B —ABEMNXAFTERS AR KRR A R R — AT .
e 11 -



Py

(b) 2% phEA S 2 2 AFFE— A AR 23 2% o DX B, AH R 1 $2 B0 R A R 20— A
HE
A K Kk FE send Gl m) FIHZE WG RS receive(i,m) . X L i {URZZ 0pBA A .
& . E bufl 0] buf[ 1] bufempty[ 0 11 buffull (172 P,y I RA 15 & &, buffull (0],
bufempty[11J& Py A 15 B i .
LR GETE

bufempty[0]=bufempty[1]1=n, (n &2 i X A B B 5% ol X 4~ %00)
buffull [0]=buffull[1]=0
send (i,m)
begin
local x
P (bufempty[i])
% FIFO J7 Ak — D= Zh X
buf[i] (x)
buf[i] (x)=m
buf [1] (x) B RiC
V(buffull([i])
end
receive (i,m)
begin
local x
P(buffull[i])
% FIFO J5 A — M R I ZE b X buf (1] (x)
m=buf[i] (x)
buf [i] (x) B=HRIC
V(bufempty[i])

end

P, 1 send(0,m) 1 receive(l,m),
Py, #H send(1,m) I receive(0,m),

3,12 AEAE RIS AR B BedR 0 DAV Z P R B 4 Y R [l . i FLAZ fié il
VLA ] P RERR A IR AR R o W X SRR L SR 1 DI SR P R N 2 L H R
AT LE H Al 0 DR JE A i IR SEE . WM R inbuf YPATHR/RAEAE . REEAGE
AT F— R E 200 . ik LR Bl CCPLKCP Al DCP,
%: KCPHliigtnh -
& T_Ready F1 T_Busy 437 4y i 8 KP Rl 42 6 5 # KCP (FAA (55 & HAE A
0 Al 1. ¢ inbuffer Jy inbul WA F 56 WMER 1, L Kb A ERHEE.
e 12 .



VAL (BRI A inbuf Ml echobuf}
begin
local x
P (T_Ready)
B 8 B A% i 2 o < PO AT m, 2R x.m
if g FEHIEE
P (inbuffer)
send (x.m)
¥ x.mik A echobuf
V(T Busy)

end
AP 2R KCP .

repeat
P (T Busy)
FEH A FAF N O A% 5 2% o
V(T _Ready)

until & & A

Bl DCP.
% D Ready #1 D_Busy 43525 DP f1 DCP Wi A 555, HWIGBE R 0 Ffl 1,

VA Ak O B HH GE W outbuf, echo L E false)
begin
if outbuf i
then
receive (k)
P (D_Busy)
B k5 A R #5800 22 b X
V(D Ready)
else
echo R % true
echo buf PFAFE A BRI WX £1

end
R fE DP:

repeat
if echo #iz{
then
AT ED i A8 KR 28 o X o 0 44
else
P (D Ready)
T R R BB 28 b X 0
V(D_Busy)
until WAL
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Wit & read GOAE inbuf H A FTA AT 32 H] P BERRBE X x Ak L i A write () SEHT
PR y AL BT RS ] outbuf H1, read ()l write (y) B 3R I .

313 B -ARUF ARGV fork K 3 A TR JFAEHT R S5 J8)N pipe G5 —
A L BEFRX 3 A TR RS RS 2 Tl — A5 A A 7 15 Bl 1

%
main ()
{
int r,pl,p2,p3,£d[2]; /* £A[2] HE B CFIZEE R « /
char buf[50],s[5];
pipe (£d) ; / * BB pipe () * /
while ((pl=fork())==-1); /o BIE TR 1%/
if (pl==0) [ * T HERE 1 AT + /
{
lockf (£d[1],1,0); [ BUEE R« /
sprintf (buf,"child process Pl is sending message!\n");
printf ("child process P1!\n");
write (£4[1],buf,50); /* ¥4 buf FIEHRE A pipe x /
sleep (5); /% HENR SR AR = /
lockf (£d[1],0,0); /SR %/
exit (0);
}
else
{
while ((p2=fork())==-1); /o BIEESERE 2% /
if (p2==0) / * FEFUERE 2 P IAT x /
{
lockf (£d[1],1,0); [ BUEE R« /

sprintf (buf, "child process P2 is sending message!\n");
/% B A buf * /
printf ("child process P2!\n");

write (£4[1],buf,50); /* ¥4 but FREHEE A pipe x /
sleep(5); /[ SRR AL AR /
lockf (£d[1]1,0,0); / * fRAE %/
exit (0); /* BECHERR BRI % /
}
else
{
while ((p3=fork())==-1); /% QIR 3% /
if (p3==0) [ FEFHERE 3 AT % /

{
lock (fd[1],1,0);
sprintf (buf,"child process P3 is sending message!\n");

printf ("child process P3!\n");



write (fd[1],buf,50);

sleep(5);

lockf (£d[1]1,0,0);

exit (0);
}
wait (0); / o SRR AR TR e AT+ /
if (r=read(£d[0],s,50)==-1) /% P pipe WAER s 1 * /

printf ("can't read pipe\n");
else
printf ("$s\n",s);
wait (0); /% RS — A FHRBRIAT « /
if (r=read(£d[0],s,50)==-1)
printf ("can't read pipe\n");
else
printf ("$s\n",s);
wait (0); /% SRR — A T RT + /
if (r=read (£fd[0],s,50)==-1)
printf ("can't read pipe\n")
else
printf ("$s\n",s);

exit (0);

3014 BT SAVEES IR 0Kl SRR R L A R R T LR
T RIS S ST AR RN BIIA 5 IF T — 3. IR NERE T LRI A
TP 23 W OO WA AR R B T . AR IR
(D RA SIS Tt TR A HEnZ iR .
(2) WURFE T CARN T L WINPT 225 05 BB A VZ e 2 I A REE 28 1~
) HE—EESAEH AR GBI S TR Z A0 AR A P8 1.
B2 LA T [ .
(D) #38 — A PRUEA 23 BB A S0 P IR In) 2R vz TR 1ty 15 500k
(2) fifiiR—A~BEBEAT WA B PRI Z BR L S BEAT N HRBE Gl A BT I 5%
TEfE 2508 .5 AR R A A EiR?

%

(D BAF T c[0]~c[4 ] MR 1, 705 | ST G=0,1,2,3,4),

send (i) : 8 1 M HEREIZINR
begin

P(c[i]);

P(c[i+1 mod 5]);

eat;

V(c[i+1l mod 5]);

e 15



end

20 AR BE ORAIE P AT e A TR B iZ AR (25 B 5 DM E K — N — S Iz AR RIR
f SE B DL

(2) Py BT AEF RS MW A OB P T T EOS T S K e
L TR T

KR AR — A e R ER] — T DS i © 2Bk 1 AR SR B — e Kz
BLBRAE AT 2 K —HIZ N & RS N HOE.

send (i) :
begin
if 1 mod 2==0
then
{
P(c[i]);
P(c[i+1] mod 5);
eat;
V(cli]);
V(c[i+1 mod 5])
}

else

{
P(c[i+1 mod 5]);
P(clil]);
eat;
V(c[i+1 mod 5]);
V(c[il);

end

3.15 ARk gerty kgt SR X5

& TR AEDERE N TR B A A AL LAY A B AR R R SR A R B
T SCHY PR LA BAZ AR A A . AR AT 3 O T P R A 0 AR LB P/ R iR A
A, Hrh P AR TE P 2R $hAT . CPU I8 J32 5300k A 2% 2 AR A0 5B 2B ol T - ik
B SEERGE AT . oo PRI A B L LR e B R A R R
A B ARR () P ) BUW AR P MR RN 3

RGP EE X B WMTR

(1) BERR I BT IR AE B A JEAS B BP0 O 00 3t ik 2 18] R0 425 B 5 451 40 Py A 25 1]
AR A5 A5 s e HUR AL BRALIA B A SEA B R A e — i b R BRI H g 2
BA AT BTIR

(2) DATERR B A7 b BRI 48 708 B2 I 5 by 30 B B8 IR A% 7% L K B 37 O 4 45 ) it
K 5 EOL FEHL DT [A]AE L BT UM R BRI . USRS O Bz A7 Ak BEAL U146 198 J3E ik ey
o« 16 o



TR S A G R AR Ak T30 2 ik 23 ] 9 A8 Ak, b B AL 8 4 B T 45 S, AT Ak B AL BOR A

(3) X FH PR, 22 2R T sl A P B4 A5 AR5 B D, B8 w8 2R G e B R L ) L g — A
TE R T S AN AN [ B4 IR 45 2 0 A7 s e o AR VR A X TR AR R SR R R GOk L
U 55 5 P AN AS T 8 R 1 25 SR J5 A e dk S AT . LA S ferh 8 5 R AR R . X T £
LR RGN 5 AT LA AE () — 0 i fuff S ) A 2 ) i i A A R e R 3 o DA TR 45 e
() S B[]

(1) LRRMPERE—FE A [ O RPIRES A M R PLH . R, B TR
S AR P s T L DRI L 2R S R AR AR 1) B 5 R e I A 5 40 B A1 A7 A7 6 s Te) AT
LR A R,

(5) BERR BT B 1R A 25 5 R 22 i B0 28 8 PR R o o o T 2 8 1) 3 5 BB 7T A oy B4 &R
S8 N UEAT T LA H P R AT

3.16 {EHEREL clone() 5 pthread_create() , fi: Linux IR T G @t g F AW $ AT B
(S Y35
% Linux R4S P PR TR O G2 R P AP BAT 15X, FL P2 oR 85053 il A pthread
create() Fll cloneO) . A /1 LR AR O B FE R )P A= Bl AN F
(1) I G 2 78 i B s 1]

#include <pthread.h>

void * ptest (void * arg)

{
printf ("This is the new thread!\n");
return (NULL) ;

}

main ()
{
pthread t tid;
printf ("This is the parent process!\n");
pthread create(&tid,NULL,ptest,NULL); YRR )z 22%
sleep(l);
return;

}

%Ry it P8 H pthread create O A E#E — A~ P R, HAG 50 tid, i FE4H ptest,
(2) B PR G f] :

#include <signal.h>
#include <stdio.h>
#include <stdlib.h>
#include <fcntl.h>

#include <linux/unistd.h>

#define STACKSIZE 16384
« 17 -



#fdefine CSIGNAL 0x000000ff / * signal mask to be sent at exit * /

#define CLONE VM 0x00000100 / * set 1f VM shared between processes * /
#define CLONE FS 0x00000200 / % set 1f info shared between processes * /
#define CLONE_FILES 0x00000400 / * set if files shared between processes * /
#define CLONE_ SIGHAND 0x00000800 / * set 1f signal handlers shared between

processes % /

int show same vm;

voild cloned process start here(void * data)

{
printf ("child:\t got argument %$d as fd\n", (int) data);
show_same vm=5;
printf ("child: \t vim=%d \n", show same vm);

close ((int)data);

int main ()

int fd, pid;

fd=open (" /dev/null", O RDWR);
if (£d <0)
{
perror ("/dev/null");
exit(1l);
}
printf ("mother: \t vm=%d\n", £fd) ;

show_same vm=10;

printf ("mother: \t vm=%d\n", show same vm);

pid=clone (cloned process start here, (void %) fd);
if (pid <0)
{
perror ("start thread");
exit (1);
}
sleep(l);
printf ("mother: \t vm=%d\n", show _same vm);
if (write (£d, "c", 1) <0)

printf ("mother: \t child closed our file descriptor\n");

#include <signal.h>
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#include <stdio.h>
#include <stdlib.h>
#include < fcntl.h>

#include <linux/unistd.h>

#define STACKSIZE 16384

#define CSIGNAL 0x000000ff /% signal mask to be sent at exit % /
#define CLONE VM 0x00000100 / * set if VM shared between processes * /
#define CLONE FS 0x00000200 /¥ set if info shared between processes * /
#define CLONE FILES 0x00000400 /% set if files shared between processes * /

#define CLONE SIGHAND 0x00000800

/% set if signal handlers shared between processes * /

int clone (void (* fn) (void * ), void * data) /% BT« /
{
long retval,errno;
void **newstack;
/ *
* allocate new stack for subthread
%/
newstack= (void **) malloc (STACKSIZE) ;
if (!newstack)
return -1;
/ *
* Set up the stack for child function, put the (void *)
* argument on the stack
x /
newstack= (void **) (STACKSIZE+ (char * ) newstack);

* newstack=data;

/ *
% Do clone () system call. We need to do the low-level stuff
* entirely in assembly as we're returning with a different
* stack in the child process and we couldn't otherwise guarantee

* that the program doesn't use the old stack incorrectly.

* Parameters to clone() system call:
* $eax- NR clone, clone system call number
* $ebx-clone flags, bitmap of cloned data

* $ecx-new stack pointer for cloned child

* In this example %ebx is CLONE VM | CLONE FS | CLONE FILES |
* CLONE_SIGHAND which shares as much as possible between parent and
* child. (the signal to be sent on child termination into clone flags:

* SIGCHLD makes the cloned process work like a "normal" UNIX child



*

process)

The clone () system call returns (in $eax) the pid of the newly
cloned process to the parent, and 0 to the cloned process. If
an error occurs, the return value will be the negative errno.

In the child process, we will do a "jsr" to the requested function

* and then do a "exit () " system call which will terminate the child.
*/
_asm volatile (
"int $0x80\n\t" /* Linux/i386 system call * /
"testl $0, $0\n\t" / % check return value % /
"jne 1f\n\t" /% jump if parent * /
"call * $3\n\t" / * start subthread function* /

20

"movl %2, $0\n\t"

"int $0x80\n" / * exit system call: exit subthread* /
"l:\t"

: "=a" (retval)

: "0" (_NR clone), "i" ( NR exit),

"r" (fn),

"p" (CLONE_VM | CLONE_FS | CLONE_FILES |

CLONE_SIGHAND | CLONE SIGCHLD),

"c" (newstack));

if (retval <0)

{
errno=-retval;
retval=-1;

}

return retval;



F4E LBNAE

4.1 Hr2ik S sk R A L S kB it 27

B R BEALIE E R) RS R b A FRALAY > BE AR . AR RATIRLE 2 5 5T 4 Ab B % By
T A AT A5 2 AL Y R A R AT e AR BRAL Y BEAS . X I EATAL TN AE B4R
& KBTI BT IR LIS NAE OB R SR S R A . DN TR R R AT BEA% S S Ab PR
R o A Ml 98] 5 s P o2 20T 51 181 A A A B R S s A BRI 4 — S ) 20 496 0T R0 54 s DA A
H b e LA T 5 SRS ARl D B AT 20 E B PR B A R AR 4B AT 3R A 5T 4 Ak AL
AIBEHE o S350l AL T HATIRE T A1l — e 1 2 A R AR L T AE AL R G 4 — i %)
HAEA — bR 5 A7 AL AL SRR AR ST L BR T AR T A RS B AR AL S i A7 AE AL T 2K
RS SE Fr A B AR o 75 B AT —E B9 07 3k RS S ik R 7 ol 7 e 2 ) AT b Ak
PLIA L 75 200 2k

— ROR UL, AL BRALYA BE AT 73 4 9

(D ARV IR BE . PR 2 WL B2 B g 2 )

(2) ZZH AR . PR SR B . H: 2 BT 55 2 4 1R 4 S 00 DU DU R 3 g oRE Ak T A A A
A5 DX A AL 4 R 2 B A R IR S BN A7 2 IR S 0 R S B A A4 X S e A B B
L WAFAE B 750 TR I AE AT 88 B AR R 8 B IH A A A B 2

(3) HERRVRE . ORRIWOVL I B SR S0 B o 2 AT 55 2 i IR R Aol 50 s ARy 125 B MR —
AL TR AR B R AL BRAL . FER S T A B AL B R 2 R G Ak AT R AR
R SO LA S A o A PR AL R AR 3 N Y PAA T BRI

() LRREVAE . R v AR OC MR R 428 Tl 36 25 B9 I 1L

TEGr It R G s — AN AE ARl I8 5 iy R A A 18] B2 0 A R 3 A A A . X A
ARSI R GEH O T 4 R () ARl AN R A S AR AN R TR ARSI AR N AT . AR
iR, — B MRS RSB I G T 5 BRI TS I, Jr R G P B A
B SRE MG #oIRAS o 7B R G A S B 28 0 28 0w 22 o IX 0 2R 48 R Wi, a7 B Ak
B B ST R AT AN

4.2 R IR T2 2 IhhE.

& R EER) FEEIIRE S . Hi— i B SR X A A B AT R B R S A AR AT
25 08 0 B AE L 0 TR A A i A A A B R A S AR AR L AR A G
PEREIRAG 38 G Ab BRALE AR . 55 5b AR AT SEHE I L i B2 5T Il e R e B AL

4.3 il R B VERE VY bRl ATWIREE 0 33X B Pk G DF O b i AEAE AT LT A RE K ik )R
VS S Y P 27 2
& X THACE RS T EEH T B X A R e i [a] 2R g . AT A
ol g - 25 J 2 ) s~ 249 AL 5 T i ok A A R B R T B AL 25 o AU T I R SRR
¢« 21 o



U P 249 0 37 S ) S P A A 9 R S A 4

XEF R R GE L B T EORIE R GEAT ik A O B IR R 2 A L N DR UE T T RE S A
F o SO S TR o PRI A 0 I 2R 8 T ASCASLFD Jo Ble i T sl ASL ] A I (1) A 1687 3] 36 7 o
B

X S I R G o U 4 A R B VA 0 25 Y T B A U R A P R A e BRI ]

%

4.4 ERHEPEMDhHRARLE 2

Z: FREENIDIREINT .

(1) e sk FRAE R Ge b e A7 i 72 B BUA T 1 10
(2) He# b A LTI PEFE .

(3) AT HERR R SChk .

4.5 ERLVEE R HLAYR LA

& R ENRLA

(1) IETEPAT B 2F FE PAT 58 B8 . 3K B 40 SR O 3 6 307 1) 35 & 0 A BAUAT 5 O TR 2% Ach B AL

(2) PUATHIERE A C 8 P ZE 50K B O BH 28 Ok 7F A B HIR 55 RRR S

3) ATV T P I ERAE TP B UEAS 2 B s T VR R AE
WS T A5 R BT IR Y HERE BAA .

(D PATH R D 1/0 K 5 FHZE,

(5) TEArIt RGE it | 5 & & H %8

(6) FEPAT5E RGN G RERE TG IR 10l FH P A P i) v] 5 003 4 AR AT 58 5L AT
B TR B — B P R AT

1E CPU P77 R R0 I8 A

(7) 528 BAF v i) 5 72 0 00 SE B8 15 5 T Y A0 ST 2E 72 1 00 Se 4, DA T o s 5 |
PRI,

4.6 fRBAT 4 B ML B ] B A TIR W] B4 il

PRl #2210 %] /hh: mm AT ]/ hr
1 10:00 2
2 10:20 1
3 10:40 0.5
4 10:50 0.3

VAL AR T IABE T SR HISEA SE Mk 5% U 5 530 e et 140l O 56 VA 52 B ide ek 1y
SP- 2 JEL G ik ] 0P 240 UL Bk ) L I S TR DR )
& (D) Jek Mg T
@ Ts;=10:00 Te;=12:00 T,=2.00 Tw,=0
@ Ts,=10:20 Te,=13:00 T,=1.00 Tw,a1.70
« 29 .



@ Ts;=10:40 Te,=13:30 T3=0.50 Tws;=2.30
@ Ts,=10:50 Te, =13:48 T,=0.30 Tw,~2.70

T=0.25%(2+2.7+2.84+3)=2.625

W=0.25% (4+0+1.7/14+2.3/0.5+2.7/0.3)=4. 825

(2) B Al AR 5 I B2 e 2 T

@ Ts,=10:50 Te,=11:08 T,=0.3
@ Ts;=10:40 Te;=11:28 T;=0.5
® Ts;=10:20 Te,=12:08 T,=1
@ Ts,=10:00 Te =13:48 T,=2

Tw,=0

Tw;=0.3
Tw,=0.8
TW]Z . 8

T=0.25+%(0.34+0.8+1.8+3.8)=1.675
W=0.25% (4+0-+0.30/0.50+0.8/1+1.8/2)=1.575

4.7 BHRPEG EARIF R =k x q, Ferfr, k ikl R i A 8o g Skl i G
B S Y e g Emt. A g T 0. 047 k& T3 - I i iz 55 10k [l 24 ¢ 19
RERRNE RN T Sy ¢ BRESE R 8. R R TInE ] i i 42 4% IR U5 5K (RRO L JER 5B
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